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[image: image1.png]The angle of depression from the top of a sheer cliff to
point A on the ground is 35°. If point A is 280 feet from
the base of the cliff, how tall is the cliff?

The angle of depression from a balloon on a 75-foot
string to a person on the ground is 36°. How high is
the balloon?

A ski run is 1000 yards long with a vertical drop of
208 yards. Find the angle of depression from the top
of the ski run to the bottom.




Angle of Elevation and Depression HW#1

1.
[image: image2.png]Solve each problem. Round measures of segments to the nearest whole number

and angles to the nearest degree.

1. The angle of elevation from point A to the top of a hill is 49°.
If point A is 400 feet from the base of the hill, how high is
the hill?

2. Find the angle of elevation of the sun when a 12.5-meter-tall
telephone pole casts an 18-meter-long shadow.

3. A ladder leaning against a building makes an angle of 78°
with the ground. The foot of the ladder is 5 feet from the
building. How long is the ladder?

O
A 400 ft

L

125m

sy B
5ft



2.

[image: image3.png]The top of a signal tower is 120 meters
above sea level. The angle of depression
from the top of the tower to a passing
ship is 25°. Which is closest to the
distance from the foot of the tower to
the ship?

120m





3.

[image: image4.png]SLEDDING A sledding run is 300 yards long with a vertical drop of
27.6 yards. Find the angle of depression of the run.




4.

[image: image5.png]GOLF A golfer is standing at the tee,
looking up to the green on a hill. If
the tee is 36 yards lower than the
green and the angle of elevation
from the tee to the hole is 12°, find
the distance from the tee to the hole.

TOURISM Crystal is on a bus in France
with her family. She sees the Eiffel
Tower at an angle of 27°. If the tower is
986 feet tall, how far away is the bus?
Round to the nearest tenth.





5.

[image: image6.png]OCEAN ARCHAEOLOGY A salvage ship !
uses sonar to determine the angle of -
depression to a wreck on the ocean

floor that is 40 meters below the surface.

How far must a diver, lowered from the

salvage ship, walk along the ocean floor

to reach the wreck?

STANDARDIZED TEST EXAMPLE
From the top of a 150-foot high
tower, an air traffic controller
observes an airplane on the |- - ]
runway. Which equation would be

used to find the distance from the

base of the tower to the airplane?




6.
The top of a signal tower is 120 meters above sea level. The angle of depression for the top of the tower to a passing ship is 25°. What is the distance from the foot of the tower to the ship? 
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